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QUESTION 1

For Ad Hoc conference, users can create and join an ad hoc conference conveniently from terminals by following video
and audio instructions. ()

A. TRUE
B. FALSE

Correct Answer: A

QUESTION 2

Image format refers to image size or resolution. Common image formats contain: SQCIF, QCIF, CIF, 4CIF, 16CIF, HD,
Full HD.()

A. TRUE
B. FALSE

Correct Answer: A

QUESTION 3

A pinhole path from the public to private networks is opened by RTP redirect messages. The pinhole is maintained by (

).

A. Media stream from the terminal
B. Non-standard IRQ message

C. Subsequent RTP or RTCP traffic
D. Nothing

Correct Answer: C

QUESTION 4

ARQ is Similar to the TCP retransmission mechanism, when the network detects UDP packet loss in video stream, it
requires the peer to resend UDP stream. The receiver uses a buffer to store code stream, and starts decoding after
receiving the retransmitted UDP stream. ()

A. TRUE

B. FALSE

Correct Answer: A
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QUESTION 5

An RTP packet consists of the fixed RTP header and the payload data, the first 12 bytes of the header are fixed and
have fixed meaning. The payload can be audio or video data; ()

A. TRUE
B. FALSE

Correct Answer: A
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